

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** 87th Ave 02-10**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$650.00	\$2,600.00
2	Stewardship Visits - 2027	4	EA	\$675.00	\$2,700.00
3	Stewardship Visits - 2028	4	EA	\$700.00	\$2,800.00
4	Stewardship Visits - 2029	4	EA	\$725.00	\$2,900.00
TOTAL					\$11,000.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,400.00	\$1,400.00
Alt. 2	Prescribed Burn	1	LS	\$4,000.00	\$4,000.00
TOTAL PLUS ALTERNATES					\$16,400.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** 88th Ave 02-12**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,175.00	\$4,700.00
2	Stewardship Visits - 2027	4	EA	\$850.00	\$3,400.00
3	Stewardship Visits - 2028	4	EA	\$875.00	\$3,500.00
4	Stewardship Visits - 2029	4	EA	\$900.00	\$3,600.00
TOTAL					\$15,200.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,600.00	\$3,600.00
TOTAL PLUS ALTERNATES					\$18,800.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Anthony Pond 20-07**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,000.00	\$4,000.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,100.00	\$4,400.00
4	Stewardship Visits - 2029	4	EA	\$1,125.00	\$4,500.00
TOTAL					\$17,100.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,200.00	\$1,200.00
Alt. 2	Prescribed Burn	1	LS	\$3,700.00	\$3,700.00
TOTAL PLUS ALTERNATES					\$22,000.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: Autumn Ridge (West, Mid, East) 31-14, 31-28, 31-29

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,225.00	\$4,900.00
2	Stewardship Visits - 2027	4	EA	\$1,250.00	\$5,000.00
3	Stewardship Visits - 2028	4	EA	\$1,300.00	\$5,200.00
4	Stewardship Visits - 2029	4	EA	\$1,350.00	\$5,400.00
TOTAL					\$20,500.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$900.00	\$900.00
Alt. 2	Prescribed Burn	1	LS	\$4,500.00	\$4,500.00
TOTAL PLUS ALTERNATES					\$25,900.00

Authorization & Signature

Company Name: Stantec

Name of Authorized Signee: Derek Pellicci

Signature of Authorized Signee: A handwritten signature in black ink that appears to read "Derek Pellicci".

Title: Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Beemsterboer 20-01**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,050.00	\$4,200.00
2	Stewardship Visits - 2027	4	EA	\$1,075.00	\$4,300.00
3	Stewardship Visits - 2028	4	EA	\$1,125.00	\$4,500.00
4	Stewardship Visits - 2029	4	EA	\$1,175.00	\$4,700.00
TOTAL					\$17,700.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,200.00	\$1,200.00
Alt. 2	Prescribed Burn	1	LS	\$3,700.00	\$3,700.00
TOTAL PLUS ALTERNATES					\$22,600.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Beth Pond 32-05**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$4,850.00	\$19,400.00
2	Stewardship Visits - 2027	4	EA	\$3,200.00	\$12,800.00
3	Stewardship Visits - 2028	4	EA	\$3,325.00	\$13,300.00
4	Stewardship Visits - 2029	4	EA	\$3,450.00	\$13,800.00
TOTAL					\$59,300.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS		\$0.00
Alt. 2	Prescribed Burn	1	LS	\$7,700.00	\$7,700.00
TOTAL PLUS ALTERNATES					\$67,000.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: Bluff Pointe 1, 2, 3 30-15, 30-16, 30-17

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$3,000.00	\$12,000.00
2	Stewardship Visits - 2027	4	EA	\$2,075.00	\$8,300.00
3	Stewardship Visits - 2028	4	EA	\$2,150.00	\$8,600.00
4	Stewardship Visits - 2029	4	EA	\$2,225.00	\$8,900.00
TOTAL					\$37,800.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS		\$0.00
Alt. 2	Prescribed Burn	1	LS	\$6,500.00	\$6,500.00
TOTAL PLUS ALTERNATES					\$44,300.00

Authorization & Signature

Company Name: Stantec

Name of Authorized Signee: Derek Pellicci

Signature of Authorized Signee: Derek Pellicci

Title: Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Capistrano North 29-20**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,175.00	\$4,700.00
2	Stewardship Visits - 2027	4	EA	\$1,225.00	\$4,900.00
3	Stewardship Visits - 2028	4	EA	\$1,275.00	\$5,100.00
4	Stewardship Visits - 2029	4	EA	\$1,325.00	\$5,300.00
TOTAL					\$20,000.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,100.00	\$1,100.00
Alt. 2	Prescribed Burn	1	LS	\$3,700.00	\$3,700.00
TOTAL PLUS ALTERNATES					\$24,800.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Caro Vista 02-04**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,600.00	\$6,400.00
2	Stewardship Visits - 2027	4	EA		\$0.00
3	Stewardship Visits - 2028	4	EA		\$0.00
4	Stewardship Visits - 2029	4	EA		\$0.00
TOTAL					\$6,400.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS		\$0.00
Alt. 2	Prescribed Burn	1	LS		\$0.00
TOTAL PLUS ALTERNATES					\$6,400.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Colonades 13-04**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,425.00	\$5,700.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,100.00	\$4,400.00
4	Stewardship Visits - 2029	4	EA	\$1,125.00	\$4,500.00
TOTAL					\$18,800.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,200.00	\$1,200.00
Alt. 2	Prescribed Burn	1	LS	\$3,600.00	\$3,600.00
TOTAL PLUS ALTERNATES					\$23,600.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Creek Crossing 06-05**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,700.00	\$6,800.00
2	Stewardship Visits - 2027	4	EA	\$1,350.00	\$5,400.00
3	Stewardship Visits - 2028	4	EA	\$1,375.00	\$5,500.00
4	Stewardship Visits - 2029	4	EA	\$1,425.00	\$5,700.00
TOTAL					\$23,400.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$4,300.00	\$4,300.00
Alt. 2	Prescribed Burn	1	LS	\$5,800.00	\$5,800.00
TOTAL PLUS ALTERNATES					\$33,500.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Deer Chase Estates East Basin 29-28**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,950.00	\$7,800.00
2	Stewardship Visits - 2027	4	EA	\$1,925.00	\$7,700.00
3	Stewardship Visits - 2028	4	EA	\$2,075.00	\$8,300.00
4	Stewardship Visits - 2029	4	EA	\$2,075.00	\$8,300.00
TOTAL					\$32,100.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$2,700.00	\$2,700.00
Alt. 2	Prescribed Burn	1	LS	\$6,600.00	\$6,600.00
TOTAL PLUS ALTERNATES					\$41,400.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Fawn Trail 29-12**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,925.00	\$7,700.00
2	Stewardship Visits - 2027	4	EA	\$875.00	\$3,500.00
3	Stewardship Visits - 2028	4	EA	\$900.00	\$3,600.00
4	Stewardship Visits - 2029	4	EA	\$950.00	\$3,800.00
TOTAL					\$18,600.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$6,700.00	\$6,700.00
Alt. 2	Prescribed Burn	1	LS	\$3,300.00	\$3,300.00
TOTAL PLUS ALTERNATES					\$28,600.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Golfview 14-05**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,200.00	\$4,800.00
2	Stewardship Visits - 2027	4	EA	\$1,250.00	\$5,000.00
3	Stewardship Visits - 2028	4	EA	\$1,300.00	\$5,200.00
4	Stewardship Visits - 2029	4	EA	\$1,350.00	\$5,400.00
TOTAL					\$20,400.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$800.00	\$800.00
Alt. 2	Prescribed Burn	1	LS	\$4,300.00	\$4,300.00
TOTAL PLUS ALTERNATES					\$25,500.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Grandview 18-03**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,800.00	\$7,200.00
2	Stewardship Visits - 2027	4	EA	\$1,225.00	\$4,900.00
3	Stewardship Visits - 2028	4	EA	\$1,275.00	\$5,100.00
4	Stewardship Visits - 2029	4	EA	\$1,325.00	\$5,300.00
TOTAL					\$22,500.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$4,700.00	\$4,700.00
Alt. 2	Prescribed Burn	1	LS	\$2,300.00	\$2,300.00
TOTAL PLUS ALTERNATES					\$29,500.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Great Egret 29-03**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,000.00	\$4,000.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,100.00	\$4,400.00
4	Stewardship Visits - 2029	4	EA	\$1,125.00	\$4,500.00
TOTAL					\$17,100.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,500.00	\$1,500.00
Alt. 2	Prescribed Burn	1	LS	\$4,900.00	\$4,900.00
TOTAL PLUS ALTERNATES					\$23,500.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Greystone Ridge 06-17**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$825.00	\$3,300.00
2	Stewardship Visits - 2027	4	EA	\$875.00	\$3,500.00
3	Stewardship Visits - 2028	4	EA	\$900.00	\$3,600.00
4	Stewardship Visits - 2029	4	EA	\$925.00	\$3,700.00
TOTAL					\$14,100.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,300.00	\$1,300.00
Alt. 2	Prescribed Burn	1	LS	\$4,200.00	\$4,200.00
TOTAL PLUS ALTERNATES					\$19,600.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Kingsport 20-04**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,225.00	\$4,900.00
2	Stewardship Visits - 2027	4	EA	\$1,250.00	\$5,000.00
3	Stewardship Visits - 2028	4	EA	\$1,300.00	\$5,200.00
4	Stewardship Visits - 2029	4	EA	\$1,350.00	\$5,400.00
TOTAL					\$20,500.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,400.00	\$1,400.00
Alt. 2	Prescribed Burn	1	LS	\$3,600.00	\$3,600.00
TOTAL PLUS ALTERNATES					\$25,500.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: Laekshore North 31-18

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$3,000.00	\$12,000.00
2	Stewardship Visits - 2027	4	EA	\$900.00	\$3,600.00
3	Stewardship Visits - 2028	4	EA	\$925.00	\$3,700.00
4	Stewardship Visits - 2029	4	EA	\$950.00	\$3,800.00
TOTAL					\$23,100.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS		\$0.00
Alt. 2	Prescribed Burn	1	LS	\$4,600.00	\$4,600.00
TOTAL PLUS ALTERNATES					\$27,700.00

Authorization & Signature

Company Name: Stantec

Name of Authorized Signee: Derek Pellicci

Signature of Authorized Signee: Derek Pellicci

Title: Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Laurel Hills 29-08**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$825.00	\$3,300.00
2	Stewardship Visits - 2027	4	EA	\$875.00	\$3,500.00
3	Stewardship Visits - 2028	4	EA	\$900.00	\$3,600.00
4	Stewardship Visits - 2029	4	EA	\$925.00	\$3,700.00
TOTAL					\$14,100.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS		\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,300.00	\$3,300.00
TOTAL PLUS ALTERNATES					\$17,400.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Legend Trail 03-11**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,600.00	\$6,400.00
2	Stewardship Visits - 2027	4	EA	\$1,650.00	\$6,600.00
3	Stewardship Visits - 2028	4	EA	\$1,700.00	\$6,800.00
4	Stewardship Visits - 2029	4	EA	\$1,750.00	\$7,000.00
TOTAL					\$26,800.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS		\$0.00
Alt. 2	Prescribed Burn	1	LS	\$6,300.00	\$6,300.00
TOTAL PLUS ALTERNATES					\$33,100.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Long Run Creek 06-09**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$4,100.00	\$16,400.00
2	Stewardship Visits - 2027	4	EA	\$1,275.00	\$5,100.00
3	Stewardship Visits - 2028	4	EA	\$1,325.00	\$5,300.00
4	Stewardship Visits - 2029	4	EA	\$1,375.00	\$5,500.00
TOTAL					\$32,300.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$8,100.00	\$8,100.00
Alt. 2	Prescribed Burn	1	LS	\$4,500.00	\$4,500.00
TOTAL PLUS ALTERNATES					\$44,900.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: Marley Blvd (North, Mid, South) 31-15, 31-20, 31-21

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$2,650.00	\$10,600.00
2	Stewardship Visits - 2027	4	EA	\$2,850.00	\$11,400.00
3	Stewardship Visits - 2028	4	EA	\$2,900.00	\$11,600.00
4	Stewardship Visits - 2029	4	EA	\$2,950.00	\$11,800.00
TOTAL					\$45,400.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS		\$0.00
Alt. 2	Prescribed Burn	1	LS	\$6,600.00	\$6,600.00
TOTAL PLUS ALTERNATES					\$52,000.00

Authorization & Signature

Company Name: Stantec

Name of Authorized Signee: Derek Pellicci

Signature of Authorized Signee: *Derek Pellicci*

Title: Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Persimmon Meadow 05-08**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$650.00	\$2,600.00
2	Stewardship Visits - 2027	4	EA	\$675.00	\$2,700.00
3	Stewardship Visits - 2028	4	EA	\$700.00	\$2,800.00
4	Stewardship Visits - 2029	4	EA	\$725.00	\$2,900.00
TOTAL					\$11,000.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,300.00	\$1,300.00
Alt. 2	Prescribed Burn	1	LS	\$4,000.00	\$4,000.00
TOTAL PLUS ALTERNATES					\$16,300.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Preston Pond 06-11**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$850.00	\$3,400.00
2	Stewardship Visits - 2027	4	EA	\$875.00	\$3,500.00
3	Stewardship Visits - 2028	4	EA	\$900.00	\$3,600.00
4	Stewardship Visits - 2029	4	EA	\$925.00	\$3,700.00
TOTAL					\$14,200.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,300.00	\$1,300.00
Alt. 2	Prescribed Burn	1	LS	\$3,300.00	\$3,300.00
TOTAL PLUS ALTERNATES					\$18,800.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: Royal Oaks 08-25

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$875.00	\$3,500.00
2	Stewardship Visits - 2027	4	EA	\$900.00	\$3,600.00
3	Stewardship Visits - 2028	4	EA	\$950.00	\$3,800.00
4	Stewardship Visits - 2029	4	EA	\$975.00	\$3,900.00
TOTAL					\$14,800.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS		\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,200.00	\$3,200.00
TOTAL PLUS ALTERNATES					\$18,000.00

Authorization & Signature

Company Name: Stantec

Name of Authorized Signee: Derek Pellicci

Signature of Authorized Signee: Derek Pellicci

Title: Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Spring Creek 18-01**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,000.00	\$4,000.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,075.00	\$4,300.00
4	Stewardship Visits - 2029	4	EA	\$1,125.00	\$4,500.00
TOTAL					\$17,000.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$900.00	\$900.00
Alt. 2	Prescribed Burn	1	LS	\$3,900.00	\$3,900.00
TOTAL PLUS ALTERNATES					\$21,800.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Sunny Pine 02-08**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,000.00	\$4,000.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,100.00	\$4,400.00
4	Stewardship Visits - 2029	4	EA	\$1,125.00	\$4,500.00
TOTAL					\$17,100.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,700.00	\$1,700.00
Alt. 2	Prescribed Burn	1	LS	\$4,300.00	\$4,300.00
TOTAL PLUS ALTERNATES					\$23,100.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Tallgrass Trail 03-10**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$925.00	\$3,700.00
2	Stewardship Visits - 2027	4	EA	\$950.00	\$3,800.00
3	Stewardship Visits - 2028	4	EA	\$975.00	\$3,900.00
4	Stewardship Visits - 2029	4	EA	\$1,000.00	\$4,000.00
TOTAL					\$15,400.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS		\$0.00
Alt. 2	Prescribed Burn	1	LS	\$6,300.00	\$6,300.00
TOTAL PLUS ALTERNATES					\$21,700.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Wedgewood Commons 02-05**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$2,375.00	\$9,500.00
2	Stewardship Visits - 2027	4	EA	\$1,450.00	\$5,800.00
3	Stewardship Visits - 2028	4	EA	\$1,500.00	\$6,000.00
4	Stewardship Visits - 2029	4	EA	\$1,550.00	\$6,200.00
TOTAL					\$27,500.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$4,800.00	\$4,800.00
Alt. 2	Prescribed Burn	1	LS	\$4,700.00	\$4,700.00
TOTAL PLUS ALTERNATES					\$37,000.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Yearling Crossing 29-02**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$850.00	\$3,400.00
2	Stewardship Visits - 2027	4	EA	\$875.00	\$3,500.00
3	Stewardship Visits - 2028	4	EA	\$900.00	\$3,600.00
4	Stewardship Visits - 2029	4	EA	\$925.00	\$3,700.00
TOTAL					\$14,200.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS		\$0.00
Alt. 2	Prescribed Burn	1	LS	\$4,400.00	\$4,400.00
TOTAL PLUS ALTERNATES					\$18,600.00

Authorization & Signature**Company Name:** Stantec**Name of Authorized Signee:** Derek Pellicci**Signature of Authorized Signee:** Derek Pellicci**Title:** Project Manager